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NOJNINITUNEHTEPE®TAJIATHBIE KOHOEHCATOPDI
POLYESTER FILM FOIL CAPACITORS

TexHun4yeckue ycnosusa: AMNK.673633.015 TY

MpegHasHavyeHbl Ansa paboTbl B UensAx
NOCTOSAHHOrO, NePEeMEHHOro 1 NynbCUpPYHLLEro
TOKOB.

KOHCTpyKUMA: O06GepHyTbl JIUMKOW JEHTOM,
3anuTbl MO TOpLAM 3MOKCUAHLIM KOMMNayHAOM.

Kaxgbin BbIBOO KOHAeHcaTtopa BapuaHTa "6"
COCTOMT U3 ABYX NpoBonoK @ 0,8 Mm

D max

25 Linax

BapwuaHT "a"

HomuHanbHas eMKoCTb 0,00047 .... 0,1 mkd

HoMuHanbHoe HanpshxeHne 4;10; 16; 25 kB
(B MHTepBane Temneparyp

-60°C ...+70°C)

[onyckaemoe OTKIMOHEHNE eMKOCTMN

ans Uxom = 4 kB +5; £10; £20 %
ansa Unom = 10 ...16 kB +10; 20 %
ansa Uxom = 25 kB +5; £10
TaHreHc yrna notepb npu f = 1kly <0,008

ConpoTusneHve nsonsaumu 2100 000 MOm

WHTepBan pabounx Temnepatyp -60...+85°C
Hapab6oTtka 10 000 4
Cpok coxpaHsiemMocTu 15 net

Knumatuueckoe ncnonHexne YXI (93+3% oTHoCUT.

BNaxHocTu npu 40+2°C,
21 cyTkm)

O6o3HauyeHMe nNpu 3aKase:
KonpgeHcaTop K73-14M - 4 kB - 0,1 Mk® £10% -
- NeTY

Specifications: ALMNK.673633.015 TY

Designed to operate in DC, AC and ripple

current circuits.

Design: wrapped with

adhesive tape;

capacitor ends sealed with epoxy compound.

BapuaHnT "6"

Rated capacitance

Rated voltage

(temperature range
-60°C...+70°C)

Capacitance tolerance
Ur=4kV

Ur=10... 16 kV

Ur =25 kV

Dissipation factor at f = 1 kHz

Insulation resistance

Operating temperature range

Operating time

Shelf life

Climatic categories

Ordering example:

0,00047 ... 0,1 yF

4;10; 16; 25 kV

2100 000 MOhm

-60...+85°C

10 000 hours

15 years

RH 93+3%, 40+2°C,
21 days

Capacitor K73-14M - 4 kV - 0,1 yF +10% -

- NeTY



BapwuaHT “a”

c Macca, Usioms C Mac;ca
U kB[ ey | Do | Loms | @ | @ || D | Lo |4 | gy
U., kV C., uF mm mm mm Merlnsas); g :(J\r; C., uF mm mm mm mgax
0.0033 4 0.0022 19 13
11 28 0.6
0.0039 4 0.0033 21 17
0.0047 12 5 0.0047 17 20
0.0056 13 6 10 0.0068 20 27
0.0068 14 28 0.6 7 0.010 23 8 0.8 35
0.0082 15 8 0.015 28 50
0.010 16 9 0.022 27 68 65
0.012 17 10 0.00047 16 9
0.015 19 13 0.00068 18 28 0.6 11
4 0.018 15 15 0.0010 20 15
0.022 16 17 0.0015 17 20
0.027 17 19 16 0.0022 20 27
0.033 18 21 0.0033 23 8 35
0.039 19 48 0.8 24 0.0047 26 08 44
0.047 21 29 0.0068 26 68 62
0.056 23 35 0.010 29 75
0.068 24 38 0.00047 16 17
0.082 26 44 0.00068 18 48 21
0.10 28 50 25 0.001 20 0.8 27
0.0015 24 40
0.0022 23 68 50
0.0033 27 65
BapuaHt "6" — U.on = 25kB
Cion™, ND Dmax, | Lmax Macca, r, Cion*, NP Dmax, Lmax, Macca, r,
C., pF mm mm Mass, g max C., pF mm mm Mass, g max
470 20 30 2550...2940 35 85
626...1000 24 35 2980...3280 38 95
1010...1270 28 56 40 3300 38 95
1290...1500 | 32 55 3320...3520 38 100
1520...1870 36 65 3570...3880 40 76 105
1890...2180 30 65 3920...5300 45
2200 30 70 5320 45 140
2210...2340 30 76 75 5360...5620 45
2370..2520 | 32 80 5690; 5760 | 48 160

* [pomeXyToYHble 3HaYeHUs HOMUHanNbHbIX emkocTen no pagy E192, FTOCT 28884
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3aBUCYMOCTb AoMycKaeMoro HanpshxkeHust Uy OT TemnepaTypbl OKpyKatoLlein cpebl

Permissible voltage U; as a function of ambient temperature
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Permissible amplitude of AC sinusoidal voltage or amplitude of AC sinusoidal component of ripple voltage
Us as a function of frequency f

Unom, kKB N
4 N\
10* 4 10 16 25
B 8 AU

6

! B 54%

2 ~ ~ i 2|I T=1/f

— S Unom = 16kB =

10° ; ] S NS TN ~ T

8 —— —5— = ] H— H_IH I

6 = -~ rluow = 10xB

4 1 LTI 1

= Unom = 4kB
s SSEEE RENARSSARS |
I~ ot
! 102 T \\\ . \\\ \

8 == =====m =

6 ~

4 _—

SN ™~ I~ I~
AN \\ \\ N
N~
10
47 2,2 4,7 2,2 4,7 2 46 2 46 2 46 246 246
10° 102 mkd 10710" 102 103 10 10° ru 10°
ChoM —» f— >
OrpaHnyeHus: Limits:
Uf < U: Uf < Ut
Us<350B pansg Uew =4 kB; Us<350V for U,=4kV;
Us<600B pansg U.w = 10 KB; Us<600V for U, =10KkV;
Ur< 1400 B ans U,.. = 16 kB; Ur< 1400 V for U, = 16 KV;
Ur<2100 B ans U... =25 kB Ur<2100 V for U, =25 kV;
Mpumep onpegenenns Us : Example of calculation of Us :

[aHo: Haxogum: Given: Finding:
f=10*Tu, f=10*Hz,
Ciow = 3.3-102 MKD C:=3.3102uF
1) Uiw =4 kB 1) U= 200 B 1) U=4kV 1) Ur=200 V
2) Uiow = 10 kB 2)Us=290 B 2) U, =10 kV 2) Ui=290 V
3) Uuow = 16 kKB 3)Ur=316B 3) Ur =16 kV 3)Ui=316 V
4) U,on = 25 kB 4) U;=355B 4) U, = 25kV 4) Ui= 355V




